(0]

(0]

(0]

The arc clamp here is tied
to the round tube

M5x25 Hexagon socket bolts x7?
MS Flat Washer x4
M5 Screw Nut x?

M6x25 Hexagon socket bolts x 1
M6 Flat Washer x?
M6 Screw Nut x1

M5xL45 Hexagon socket bolts x1
M5 Flat Washer x2
M5 Screw Nut x1



